Worksheet B: (Topic 2.3) Exponential Functions Name:

Graph of f(x)

1. The graph of the exponential function f is shown above. Which of the following pairs of limit statements describing
the end behavior of f is correct?

(A) lim f(x)=—o0 and lim /' (x)=o0

(B) lim f(x)=co and lim f(x)=0

(©) lirgcf(x)zo and 1_i_1>1:f(x):oo

(D) £1_r)r01f(x) —o0 and }Ci_l)gf(x):oo

2. Let g be an exponential function that is increasing and concave down. Which of the following could be the graph of g?

(A) y (B) Y

(C) Y (D) y

Worksheet B: Topic 2.3 Exponential Functions Created by Bryan Passwater



(0]

Graphof h

3. The graph of the exponential function h is shown above. Which of the following could be the expression for h?

@ h(x)=-2[2] ® #(x)=-2(2) © (x)=20) ® #(x)=2(2)
4. Let f ( x) =3". Which of the following statements about the graph of £ is correct?

(A) f isincreasing at an increasing rate.

(B) f isincreasing at a decreasing rate.

(C) f is decreasing at an increasing rate.

(D) f is decreasing at a decreasing rate.

5. Let g( x) = —2( 5)x. Which of the following statements about the graph of g is correct?

(A) g is increasing at an increasing rate.

(B) g isincreasing at a decreasing rate.

(C) g is decreasing at an increasing rate.

(D) g is decreasing at a decreasing rate.

6. The exponential function kexhibits exponential decay. Which of the following could be £?

(A) k(x)=4(§) (B) k(x)=§(4)x (©) k(x)=-4x (D) k(x)z—%xz
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7. The graph of the exponential function f* has the following end behaviors:
lim f(x)=co and lim f(x)=0

X—>—o0

Which of the following could be the graph of f?

(A) Yy (B) Y

©) Yy (D) Y
0 v 0 ’
\
8. The graph of the exponential function g has the following end behaviors:
lim g(x)=0and limg(x)=—o0
Which of the following could be an equation for g?
1Y 1 e 1) [P

) g(x)=-3| 7 ®) g(x)=-2(3) © g(x)=3| ©) g(x)=(3)

9. Let / be an exponential function defined by /4 (x) =5 (%j . Which of the following statement pairs is correct?

(A) h is increasing and the graph of / is concave up.
(B) 4 is increasing and the graph of / is concave down.
(C) h is decreasing and the graph of } is concave up.

(D) h is decreasing and the graph of /; is concave down.
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